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Draw the table for the cumulative graph given below and 
a) What is the cumulative frequency at 71 inches?
b) If the boy height showing cumulative frequency 121 then what will be the height of the boy actually.
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FREQUENCY DISTRIBUTION TABLES AND AVERAGES

When trying to get the 3 averages for a large amount of data such as the example below for 39 pupils it is best to put all the data
into a table

The marks in a class test are

7 6 4 6 8 3 5 5 6 1 4 4 7
7 5 9 5 4 6 3 6 2 4 5 3 5
6 5 6 4 5 5 6 3 4 5 8 7 7
The information can be shown more clearly in a frequency distribution table below
MARK TALLY FREQUENCY FREQ X MARK
1 1 1x1= 1
2 1 1x2= 2
3 4 4x3= 12
4 7 7x4= 28
5 10 10x5=50
6 8 8x6= 48
7 5 5x7= 35
8 2 2x8= 16
9 1 1x9= 9
10 0 0x10= 0
TOTALS 39 201

The total number of tally marks is for each score is called the frequency of the score and is entered in the Frequency
column. The tally marks give a rough picture of the distribution of the marks.

The mean average is got by dividing the total number of marks by the total number of pupils in the class
Mean Average = 201 + 39 =5.15

The Median average is got by arranging the marks in ascending order (already done) and selecting the middle value. In this case
there are 39 scores so the middle value is the 20" score.
Median Average = 20" score =5

The modal score is obvious from the table as it is the score that was the most frequent. Looking at the Frequency column
Mode Average = 5

For a large range of value a grouped frequency table must be used and the mid point of each group used.

Marks in a test out of a hundred for a class of 30 pupils was

57 43 95 89
49 69 75 40
81 48 77 64

Mark Mid-Point
40 - 44 42
45-49 47
50 - 54 52
55-59 57
60 - 64 62
65 - 69 67
70-74 72
75-79 77
80 -84 82
85 -89 87
90 -94 92
95-99 97
TOTAL

Mean = 2015 + 30 = 67.2
Median = 15" and 16" result = 65 — 69 class
Mode = Most frequent class = 75 — 79 class
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